On a Relationship between Pascal Matrix and Vandermonde Matrix

YANG Sheng-liang¹, YOU Hong²

- (1. Dept. of Appl. Math., Lanzhou University of Technology, Gansu 730050, China;
- 2. Dept. of Math., Harbin Institute of Technology, Heilongjiang 150001, China)
 (E-mail: slyang@lut.cn)

Abstract: EI-Mikkawy M obtained that the symmetric Pascal matrix Q_n and the Vandermonde matrix V_n are connected by the equation $Q_n = T_n V_n$, where T_n is a stochastic matrix in [1]. In this paper, a decomposition of the matrix T_n is given via the Stirling matrix of the first kind, and a recurrence relation of the elements of the matrix T_n is obtained, so an open problem proposed by EI-Mikkawy^[2] is solved. Some combinatorial identities are also given.

Key words: Stirling number; Stirling matrix; Vandermonde matrix; Pascal matrix.

MSC(2000): 05A10, 15A23 CLC number: O157.1, O151.21

1. Introduction

The lower triangular Pascal matrix P_n and the symmetric Pascal matrix Q_n which derived naturally from the Pascal triangle were studied by many authors in recent years. In [3–5], the authors studied the generalized Pascal matrices and gave some combinatorial identities. The Stirling matrix of the first kind s_n and the Stirling matrix of the second kind S_n obtained from the Stirling numbers of the first kind s(i,j) and of the second kind S(i,j) respectively have been discussed recently^[6]. In [1], the author investigated a connection between the Pascal, Vandermonde and Stirling matrices, and showed by using MAPLE that a stochastic matrix T_n links together these matrices. In [2], the author raised that to generate the elements of the matrix T_n for any arbitray n using only one or two recurrence relations is an open question. In this paper, some relations between the Stirling matrix S_n and the Pascal matrix P_n are obtained, and a factorization of the matrix T_n^{-1} is given by the using the Stirling matrix of the second kind. Furthermore, a decomposition of the matrix T_n is given via the Stirling matrix of the first kind, and a recurrence relation of the elements of the matrix T_n is obtained, so an open problem proposed by EI-Mikkawy^[2] is solved. As a consequence we obtain some combinatorial identities related to the Stirling numbers.

2. Preliminary results

Let n, k be nonnegative integers and $n \ge k$, the Stirling numbers of the first kind s(n, k) and

Received date: 2004-03-30

Foundation item: the NSF of Gansu Province of China (3ZS041-A25-007)

of the second kind S(n,k) can be defined as the coefficients in the following expansion of a variable $x:(x)_n=\sum_{k=0}^n s(n,k)x^k$ and $x^n=\sum_{k=0}^n S(n,k)(x)_k$, where $(x)_k=x(x-1)(x-2)\cdots(x-k+1)$ for any integer k>0, and $(x)_0=1$. s(k,k)=S(k,k)=1 for $k\geq 0$, and s(k,0)=S(k,0)=0 for k>0.

It is known that the Stirling numbers have the following recurrence relations^[7]

$$s(n,k) = s(n-1,k-1) - (n-1)s(n-1,k), \tag{1}$$

$$S(n,k) = S(n-1,k-1) + kS(n-1,k).$$
(2)

The $n \times n$ Pascal matrix P_n is defined by [8,9] $P_n = [\binom{i-1}{j-1}]_{1 \leq i,j \leq n}$, where $\binom{i}{j} = 0$, if i < j. It is known that $P_n^{-1} = J_n P_n J_n$, where $J_n = \operatorname{diag}(1, -1, \dots, (-1)^{n-1})$.

The Stirling matrix of the first kind s_n and the Stirling matrix of the second kind S_n are defined respectively by $s_n = [s(i,j)]_{1 \le i,j \le n}$, $S_n = [S(i,j)]_{1 \le i,j \le n}$, where s(i,j) = 0, S(i,j) = 0 if i < j. It is easy to see that $S_n s_n = I_n$, $S_n^{-1} = s_n$.

Lemma 1^[6] $S_n = P_n([1] \oplus S_{n-1}); s_n = ([1] \oplus s_{n-1})P_n^{-1}.$

Lemma 2^[6] Define V_n be the $n \times n$ Vandermonde matrix by $V_n(i,j) = j^{i-1}, 1 \le i, j \le n$. Then $V_n = S_n D_n P_n^T$, where $D_n = \text{diag}(0!, 1!, 2!, \dots, (n-1)!)$.

Lemma 3^[1] Let $Q_n = {i+j-2 \choose j-1}_{1 \le i,j \le n}$ be the $n \times n$ symmetric Pascal matrix, then we have following factorization

$$Q_n = P_n P_n^T = P_n D_n^{-1} s_n V_n;$$

Denote $T_n = P_n D_n^{-1} s_n = P_n D_n^{-1} ([1] \oplus s_{n-1}) P_n^{-1}$, then

$$T_n^{-1} = S_n D_n P_n^{-1} = P_n([1] \oplus S_{n-1}) D_n P_n^{-1},$$

and T_n links the symmetric Pascal matrix Q_n and the Vandermonde matrix V_n by $Q_n = T_n V_n$.

3. Main results

Lemma 4^[10] $V_n = ([1] \oplus S_{n-1})D_n\Delta_n P_n^T$, where Δ_n is the $n \times n$ lower triangular matrix whose (i,j)- entry is $\binom{1}{i-j}$ if $i \geq j$ and otherwise is 0.

Lemma 5 $\Delta_n P_n^{-1} = ([1] \oplus P_{n-1}^{-1}) = ([1] \oplus P_{n-1})^{-1}$.

Proof

$$(\Delta_n P_n^{-1})(i,j) = \Delta_n(i,i-1)P_n^{-1}(i-1,j) + \Delta_n(i,i)P_n^{-1}(i,j)$$

$$= 1 \cdot (-1)^{i-j-1} {i-2 \choose j-1} + 1 \cdot (-1)^{i-j} {i-1 \choose j-1}$$

$$= (-1)^{i-j} \left({i-1 \choose j-1} - {i-2 \choose j-1} \right)$$

$$= (-1)^{i-j} {i-2 \choose j-2} = ([1] \oplus P_{n-1}^{-1})(i,j).$$

Lemma 6 $T_n^{-1} = ([1] \oplus S_{n-1})D_n([1] \oplus P_{n-1}^{-1}).$

Proof By Lemmas 3, 4 and 5, we have

$$T_n^{-1} = V_n Q_n^{-1} = (([1] \oplus S_{n-1}) D_n \Delta_n P_n^T) ((P_n^T)^{-1} P_n^{-1})$$
$$= ([1] \oplus S_{n-1}) D_n \Delta_n P_n^{-1} = ([1] \oplus S_{n-1}) D_n ([1] \oplus P_{n-1}^{-1}).$$

Lemma 7 For each $i, j = 1, 2, 3, \dots, n, i \ge j$, we have

$$S(i,j)j! = \sum_{k=j}^{i} (-1)^{i-k} S(i,k)k! \binom{k-1}{j-1}.$$
 (3)

Proof For a fixed positive integer j, we prove the statement by induction on i. For i = j, the statement holds since the right hand of (3) equals $(-1)^{j-j}S(j,j)j!\binom{j-1}{j-1} = S(j,j)j!$, it is exact the left hand of (3). Suppose it holds for $\leq i$, and we want to prove it for i+1. Using the recurrence relation (2) and the induction hypothesis, we obtain

$$\begin{split} S(i+1,j)j! &= j!(S(i,j-1)+jS(i,j)) \\ &= j!(\frac{1}{(j-1)!}\sum_{k=j-1}^{i}(-1)^{i-k}S(i,k)k!\binom{k-1}{j-2} + \frac{j}{j!}\sum_{k=j}^{i}(-1)^{i-k}S(i,k)k!\binom{k-1}{j-1}) \\ &= j\sum_{k=j-1}^{i}(-1)^{i-k}S(i,k)k!\binom{k-1}{j-2} + j\sum_{k=j}^{i}(-1)^{i-k}S(i,k)k!\binom{k-1}{j-1}, \end{split}$$

that is $S(i+1,j)j! = j \sum_{k=j-1}^{i} (-1)^{i-k} S(i,k) k! {k-1 \choose j-2} + j \sum_{k=j}^{i} (-1)^{i-k} S(i,k) k! {k-1 \choose j-1}$. On the other hand,

$$\begin{split} \sum_{k=j}^{i+1} (-1)^{i+1-k} S(i+1,k) k! \binom{k-1}{j-1} &= \sum_{k=j}^{i+1} (-1)^{i+1-k} (kS(i,k) + S(i,k-1)) k! \binom{k-1}{j-1} \\ &= \sum_{k=j}^{i+1} (-1)^{i+1-k} S(i,k) k! k \binom{k-1}{j-1} + \sum_{k=j}^{i+1} (-1)^{i+1-k} S(i,k-1) k! \binom{k-1}{j-1} \\ &= \sum_{k=j}^{i} (-1)^{i+1-k} S(i,k) k! k \binom{k-1}{j-1} + \sum_{k=j}^{i+1} (-1)^{i+1-k} S(i,k-1) k! \binom{k-1}{j-1} \\ &= -\sum_{k=j}^{i} (-1)^{i-k} S(i,k) k! k \binom{k-1}{j-1} + \sum_{k=j-1}^{i} (-1)^{i-t} S(i,k) k! (t+1) \binom{t}{j-1} \\ &= j \sum_{k=j}^{i} (-1)^{i-k} S(i,k) k! \binom{k-1}{j-1} - \sum_{k=j}^{i} (-1)^{i-k} S(i,k) k! (k+j) \binom{k-1}{j-1} + \\ &\qquad (-1)^{i-j+1} S(i,j-1) j! + \sum_{k=j}^{i} (-1)^{i-k} S(i,k) k! (k+1) \binom{k}{j-1} \end{split}$$

$$\begin{split} &=j\sum_{k=j}^{i}(-1)^{i-k}S(i,k)k!\binom{k-1}{j-1}+\\ &(-1)^{i-j+1}S(i,j-1)j!+\sum_{k=j}^{i}(-1)^{i-k}S(i,k)k!\left((k+1)\binom{k}{j-1}-(k+j)\binom{k-1}{j-1}\right)\\ &=j\sum_{k=j}^{i}(-1)^{i-k}S(i,k)k!\binom{k-1}{j-1}+(-1)^{i-j+1}S(i,j-1)j!+\sum_{k=j}^{i}(-1)^{i-k}S(i,k)k!j\binom{k-1}{j-2}\\ &=j\sum_{k=j}^{i}(-1)^{i-k}S(i,k)k!\binom{k-1}{j-1}+j\sum_{k=j-1}^{i}(-1)^{i-k}S(i,k)k!\binom{k-1}{j-2}. \end{split}$$

Therefore, $S(i+1,j)j! = \sum_{k=j}^{i+1} (-1)^{i+1-k} S(i+1,k)k! {k-1 \choose j-1}$. This completes the proof. Using Lemma 7 and considering the matrix equality, we obtain the following results.

Theorem 1 $\overset{\sim}{S_n} = J_n \overset{\sim}{S_n} J_n P_n$, and $\overset{\sim}{S_n} P_n^{-1} = J_n \overset{\sim}{S_n} J_n$, where $\overset{\sim}{S_n} = S_n \operatorname{diag}(1, 2!, \dots, n!)$.

Theorem 2 The matrix T_n^{-1} has the following decomposition and properties

- (a) $T_n^{-1} = J_n([1] \oplus \tilde{S}_{n-1})J_n;$
- (b) $T_n^{-1}(i,j) = (-1)^{i-j}S(i-1,j-1)(j-1)!;$
- (c) $T_n^{-1}(i,j) = [T_n^{-1}(i-1,j-1) T_n^{-1}(i-1,j)](j-1).$

Proof (a) Using Lemma 6 and Theorem 1, we have

$$T_n^{-1} = ([1] \oplus S_{n-1})D_n([1] \oplus P_{n-1}^{-1}) = ([1] \oplus \tilde{S}_{n-1})([1] \oplus P_{n-1}^{-1})$$
$$= [1] \oplus (\tilde{S}_{n-1} P_{n-1}^{-1}) = [1] \oplus (J_{n-1} \tilde{S}_{n-1} J_{n-1}) = J_n([1] \oplus \tilde{S}_{n-1})J_n.$$

(b) From (a), we have

$$T_n^{-1}(i,j) = (J_n([1] \oplus \widetilde{S}_{n-1})J_n)(i,j) = (-1)^{i-j}S(i-1,j-1)(j-1)!;$$

(c) From (b) and the recurrence relation (2), we obtain

$$\begin{split} &[T_n^{-1}(i-1,j-1)-T_n^{-1}(i-1,j)](j-1)\\ &=[(-1)^{i-j}S(i-2,j-2)(j-2)!-(-1)^{i-j-1}S(i-2,j-1)(j-1)!](j-1)\\ &=(-1)^{i-j}(j-2)![S(i-2,j-2)+S(i-2,j-1)(j-1)](j-1)\\ &=(-1)^{i-j}(j-1)!S(i-1,j-1)=T_n^{-1}(i,j). \end{split}$$

EI-Mikkawy^[2] pointed out that to generate the elements of the matrix T_n for any arbitray n using only one or two recurrence relations is an open question. We are now in a position to give a answer to this problem.

Theorem 3 The matrix T_n has the following decomposition and properties

- (a) $T_n = J_n D_n^{-1}([1] \oplus s_{n-1}) J_n;$
- (b) $T_n(i,j) = (-1)^{i-j} \frac{s(i-1,j-1)}{(i-1)!};$

(c) T_n is a stochastic matrix;

(d)
$$T_n(i,j) = \frac{1}{i-1}T_n(i-1,j-1) + \frac{i-2}{i-1}T_n(i-1,j).$$

Proof (a) From Theorem 2 (a), $T_n^{-1} = J_n([1] \oplus \tilde{S}_{n-1})J_n$, so

$$T_n = (J_n([1] \oplus \tilde{S}_{n-1})J_n)^{-1} = (J_n([1] \oplus S_{n-1})D_nJ_n)^{-1} = J_nD_n^{-1}([1] \oplus S_{n-1})J_n;$$

- (b) By (a), we have $T_n(i,j) = (J_n D_n^{-1}([1] \oplus s_{n-1})J_n)(i,j) = (-1)^{i-j} \frac{s(i-1,j-1)}{(i-1)!};$
- (c) Since $\sum_{k=1}^{i} (-1)^k s(i,k) = (-1)^i i!$, we have

$$\sum_{j=1}^{i} T_n(i,j) = \sum_{j=1}^{i} (-1)^{i-j} s(i-1,j-1) \frac{1}{(i-1)!} = \frac{(-1)^i}{(i-1)!} \sum_{j=1}^{i} (-1)^j s(i-1,j-1)$$
$$= \frac{(-1)^i}{(i-1)!} \sum_{k=1}^{i-1} (-1)^{k+1} s(i-1,k) = \frac{(-1)^i}{(i-1)!} (-1)^i (i-1)! = 1.$$

Therefore, T_n is a stochastic matrix.

(d) From (b) and recurrence relation (1), we have

$$\frac{1}{i-1}T_n(i-1,j-1) + \frac{i-2}{i-1}T_n(i-1,j))
= \frac{1}{i-1}[(-1)^{i-j}s(i-2,j-2)\frac{1}{(i-2)!} + (i-2)(-1)^{i-j-1}s(i-2,j-1)\frac{1}{(i-2)!}]
= \frac{1}{i-1}(-1)^{i-j}\frac{1}{(i-2)!}[s(i-2,j-2) - (i-2)s(i-2,j-1)]
= (-1)^{i-j}s(i-1,j-1)\frac{1}{(i-1)!}
= T_n(i,j).$$

4. Some combinatorial identities

By applying the two different representations: $T_n^{-1} = S_n D_n P_n^{-1}$, and $T_n^{-1} = J_n([1] \oplus \tilde{S}_{n-1}) J_n$, the following results hold

$$J_n([1] \oplus \tilde{S}_{n-1})J_n = S_n D_n P_n^{-1}, \ S_n D_n = J_n([1] \oplus \tilde{S}_{n-1})J_n P_n; \tag{4}$$

$$J_n D_n^{-1}([1] \oplus s_{n-1}) J_n = P_n D_n^{-1} s_n, \ D_n^{-1} s_n = P_n^{-1} J_n D_n^{-1}([1] \oplus s_{n-1}) J_n;$$
 (5)

$$Q_n = J_n D_n^{-1}([1] \oplus s_{n-1}) J_n V_n, \ P_n = J_n D_n^{-1}([1] \oplus s_{n-1}) J_n S_n D_n.$$
 (6)

Considering the matrix equality (4), we have the following identities for the Stirling numbers of the second kind

$$S(i-1,j-1)(j-1)! = \sum_{k=j}^{i} (-1)^{i-k} S(i,k)(k-1)! \binom{k-1}{j-1},$$
(7)

$$S(i,j)(j-1)! = \sum_{k=i}^{i} (-1)^{i-k} S(i-1,k-1)(k-1)! \binom{k-1}{j-1}.$$
 (8)

Using (5) yields the following identities for the Stirling numbers of the first kind

$$(-1)^{i-j} \frac{s(i-1,j-1)}{(i-1)!} = \sum_{k=j}^{i} {i-1 \choose k-1} \frac{s(k,j)}{(k-1)!},$$
(9)

$$\frac{s(i,j)}{(i-1)!} = \sum_{k=j}^{i} (-1)^{i-j} {i-1 \choose k-1} \frac{s(k-1,j-1)}{(k-1)!}.$$
 (10)

From (6) we obtain the following identities

$$\binom{i+j-2}{j-1} = \frac{1}{(i-1)!} \sum_{k=1}^{i} (-1)^{i-k} s(i-1,k-1) j^{k-1},$$
 (11)

$$\binom{i-1}{j-1} = \frac{j!}{(i-1)!} \sum_{k=i}^{i} (-1)^{i-k} s(i-1,k-1) S(k,j).$$
 (12)

In particular for j = 1, 2, the identity (3) gives

$$\sum_{k=1}^{i} (-1)^{i-k} S(i,k) k! = 1, \tag{13}$$

$$\sum_{k=2}^{i} (-1)^{i-k} S(i,k) k! (k-1) = 2^{i} - 2.$$
(14)

In particular for j = 1, 2, 3, the identity (7) gives

$$\sum_{k=1}^{i} (-1)^{i-k} S(i,k)(k-1)! = 0, \tag{15}$$

$$\sum_{k=2}^{i} (-1)^{i-k} S(i,k)(k-1)!(k-1) = 1, \tag{16}$$

$$\sum_{k=3}^{i} (-1)^{i-k} S(i,k)(k-1)! \frac{(k-1)(k-2)}{2} = 2^{i-1} - 2.$$
 (17)

In particular for j = 1, 2, the identity (8) gives

$$\sum_{k=1}^{i} (-1)^{i-k} S(i-1,k-1)(k-1)! = 1, \tag{18}$$

$$\sum_{k=2}^{i} (-1)^{i-k} S(i-1,k-1)(k-1)!(k-1) = 2^{i-1} - 1.$$
(19)

In particular for j = 2, the identity (9) gives

$$\sum_{k=2}^{i} {i-1 \choose k-1} \frac{s(k,2)}{(k-1)!} = \frac{1}{i-1}.$$
 (20)

In particular for j = 2, the identity (10) gives

$$s(i,2) = (i-1)! \sum_{k=2}^{i} (-1)^{i-k} {i-1 \choose k-1} \frac{1}{(k-1)}.$$
 (21)

References:

- [1] EI-MIKKAWY M. On a connection between the Pascal, Vandermonde and Stirling matrices-I [J]. Appl. Math. Comput., 2003, 145: 23-32.
- [2] EI-MIKKAWY M. On a connection between the Pascal, Vandermonde and Stirling matrices-II [J]. Appl. Math. Comput., 2003, 146: 759-769.
- [3] ZHANG Zhi-zheng. The linear algebra of the generalized Pascal matrix [J]. Linear Algebra Appl., 1997, 250:
- [4] ZHANG Zhi-zheng, WANG Tian-ming. Generalized Pascal matrix and recurrence sequences [J]. Linear Algebra Appl., 1998, 283: 289–299.
- [5] ZHAO Xi-qiang, WANG Tian-ming. The algebraic properties of the generalized Pascal matrices associated with the exponential families [J]. Linear Algebra Appl., 2000, 318: 45–52.
- [6] CHEON G, KIM J. Stirling matrix via Pascal matrix [J]. Linear Algebra Appl., 2001, 329: 49-59.
- [7] STANLEY R. Enumerative Combinatorics (Volume 1) [M]. Cambridge University Press, 1997.
- [8] CALL G, VELLEMAN D. Pascal's matrices [J]. Amer. Math. Monthly, 1993, 100: 372–376.
- [9] BRAWER R, PIROVINO M. The linear algebra of the Pascal matrix [J]. Linear Algebra Appl., 1992, 174: 13-23.
- [10] CHEON G, KIM J. Factorial Stirling matrix and related combinatorial sequences [J]. Linear Algebra Appl., 2002, 357: 247-258.

Pascal 矩阵与 Vandermonde 矩阵的关系

杨 胜 良 1 , 游 $\,$ 宏 2 (1. 兰州理工大学应用数学系,甘肃 兰州 730050; 2. 哈尔滨工业大学数学系,黑龙江 哈尔滨 150001)

摘要: EI-Mikkawy M 证明了对称 Pascal 矩阵 Q_n 和 Vandermonde 矩阵 V_n 之间满足矩阵方程 $Q_n = T_n V_n$, 这里 T_n 是一个随机矩阵. 本文证明了随机矩阵 T_n 能够分解成第一类 Stirling 矩 阵和对角矩阵的乘积, 得到了矩阵 T_n 的元素之间的递推关系, 从而回答了 EI-Mikkawy M 的一 个公开问题. 同时得到了一些与 Stirling 数相关的组合恒等式.

关键词: Stirling 数; Stirling 矩阵; vandermonde 矩阵; Pascal 矩阵.